80

300
(
137,37
61.(69
59.[62
45.[54
105,16
(61.
(105.
1
59m
S
11

1/ 100




7,280

_
, 820 1,820 910 2,275 455 E X
] W { ' 7,280
— 3,185 [910[91%45; 1,820 5
-30( | | | T
_ Y 1 1T 1 1
0600506005 -300 165/09 T\‘\‘\‘\“\‘
2 S O I N N
Sl 1 : : y 47 \‘\ﬁ\‘
— v 1l EE 1T 1 .
o ( : D § 6 I D I 0
S Me= L _ UL I A 1 1] N
o PT\ 7/ ° I ¢ |/»B g}?, =~ ®
: S N E NIl C == i (OIS
n) _— o I 5.3 D_ﬂ_ T 1 : ]
o 5= = i N ) i
‘ | —T B =
~ N3 3 ‘ / . od-
S f e ———— TT T 1T im| IT T Tl [ee]
Q = i & e || S5 Ty
(12_ A g 5 Llj —& g T_ = i \1\ I g 0 — [0)
N 4.5 E4- 4 L H=FL+ 5o @ & R ‘ b
q 1 — 4 " T — N © ~H = T T — ©
5 < [ A 5 2 e .
o] i T O ol O O
inil il i u 8 | H | 1]
v , If=2Boo Eﬂ_ 7'% 3 3 L] B e 7§
T L T 7.9 ge IRERE o 105x105
ISOI=-] '3 = P ss /0
g T - 5. 8 g o3
[Oai = § 1 < [ i
. < i M Eiﬂ I L AC]
g. H O 777777 OA @ (J N ) /]
) Iy - T ; L[ ac Re ]
g hc ¢ 1 T I A C T
1 Al AC | o
H = [{e}
(2]
Omssls o
'A: 7A77C’ ‘II I ‘ T - .
' AC_ ‘
Omsgac Oneges PB9. 5+ QM9 39
7,280 3,185 l 1.36J5 2,730 PB12. 5+ QM9 39
7,280
(D) (D) *
0.414 0.3) c 8.695 (5.3) 100¢ 15
o DK 1000 F D 2985
3.312 2.0) B 13.043 (7.9) —780
2.070 1.3) 3.105 1.9) Ll XI L
=199.0
1.242 0.8) D 8.695 (5.3 EB-1990- 4 —210 0
29.812 18.0) 1.242 0.8 EB-1917- 4 ™ 608 0
4. 417 2. 7) 0.414 0.3 EB-2718 550 608.0 650
0.828 0.5) 4.555 2.8 EB-2719 ’
0.948x21 |2
0.414 0.3) 1.242 0.8 EB-1555-2 19.91 21 22
0.552 0.3) 1.656 1.0 H 340 EB-1525-3 :
A 7.453 (4.5) 2.898 1.8 EB-1873+2 30mm
1.242 0.8) 45,54 (27.'9)
30mm
5.383 3.3)
2.070 1.3)
0.414 0.3)
59.62 (36.4)
2 s: 1)/ 100
1 S: 1/ 100
2 7498 2087 1 1 ;2 rirroo 2
344970 TEL: 053-586-733F% 2024/ 09| 18




E X

D K

0506

0.

02846

oK

. 016562

0506

05271

0.
0.

54

45 .

x1/ 900
/

00753

x 7

0.

. 02846
. 0312

0l

0
0

54

x1/ 1600

45 .

0156 [/ x2

0.

1405 x1/250 0.016566 2
0.02259

00753

4.

(¢

x 3

/

0.

0.00753

NBL

1

2900625

0.

07775

0.

0109 1 FLLLLZZZZ77A

fl
S o
” o
(0p]
]
g zaN N
E N
N — # T
7 T€LC 060 € o%o¢
7 20L T 2529
G69 T G86 ¢ ﬁ@i
m N ! o
o
| | 0
-
A IO L
o— (AR : -
R T€L T = 060 € ioow T

%56 “L

15+40.105 x2.275=+2
91x0.

0.
0.

105=+2

3378375

0.

3378375+30.94 0.

0.

GL-11

1/ 100

2024/ 009( 18

1

2987

586 -

7498

2

344970

7337

053 -

TEL:

G869 C G86 ¢ ﬁ_“@m %
o 5 o
M o
—
a
3 =
o (7))
=
= |
A
o =
2 —
m% / 1 M
Pmo._”
o _ — . § T
TELC 060 € 00t
20LT 2529 =
56 L
G69 C G86 T9G
T :
\\\\\\\\\\ o
\\\\\ o
iy N °
“““ A s
i N
Wi -
] )
o — 10T
2 & g A ﬂﬂ
i % « 0
T % 11 ) "
——dl )
0ST
o . — . # 1
T€L C 060 € [00,4
20L T 2529 =
56 L

11




